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Smaisg elamss@sd sfwrs ufeurd o aersr cratLgmen sflUTTEZIE
Qareterayd. EsLLS D Gampulmider oenn samaTaillumeTflLb
o L amgwirs GlgflelssayLb.

(2) Beob o@g S®BUY owulomar LLHGCL TWHASHEGW
33 5CETy HeugH@Gh Lwau(Bss CouamBbd. LLRSE eumyeusn@
Quenfled LWETLIHSSELD.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

L@ - I / PART - I
SIMENGH lamésEnsEn efa welsseib. 15x1=15

Gar@ssuu@arer wrhn el safle) Waayb e eflevL_enwig
Coibs0ss15 GHUL AL ellofmanybd Caigs) GT(PHQLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1. sfiflués sflesmer fitiugne ghm ol :
() eT(meundsed
() erfigged
(&) yhlulen Gupuriidan Cafsse
(F) Yulde wyipiors Caretry. Callsse
Radioactive wastes can be disposed off by
(a) composting
(b) burning
(c) surface impoundments

(d) a deep geological repository

2. eréuaues Qanibumsssde Coupurpser Comeanmbd ?
(=) urellall @eriClLmEsD
(=) serall QemiGUmESLD
(@) urdlet QumésLo
() (=) wdpmid (<) QremEid
" In which mode of Reproduction variation are seen ?
(a) Asexual
(b) Parthenogenesis

(c) Sexual
(d) Both (a) and (b)

3. amfL &rfledame s shewwrer UTELILSEREE e-deamd Siflub Haaula

2 ¢Ter eflwmileand ergl ?

(<1) @aumpeiad (<) ur@n s

(B) wpLCarailser (FF) upeneusEaT ;
Which one of the following are at high risk extinction due to habitat destruction ?
(a) Amphibians (b)) Mammals "
(c) Echinoderms (d) Birds
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4, gm upliysfdar oL@ Qadseio, 3 Qprgh oL @GrrGuorGsmnbs@sb 2 X
GGrrGurGsmbsenDd ST, Sssuier urd creaneuns @)mEGED ?
(=) Bes e (<) <2p it
(Q) @erumed 2 udf () Que

When a Drosophila body cells contain 3 sets of autosomes and 2 X chromosomes,
what will be the sex of the fly ?

(a) metamale (b) male

(c) intersex (d) female

5. wefls wrugns AsTEHWD 2 e QTEs @BLTR &ML &6 cramaniléens
SO
(@) 35 Bodlwdr (<) 3.5 Badue (§) 3.1 Qidluer () 35,000

The total number of nitrogenous in human genome is estimated to be about

(a) 35 million  (b) 3.5 million (c) 3.1billion  (d) 35,000

6. o smEsoL wrsHeor S Qsd deuellfieL eraieury sG&SDg ?
(<21) FSH wopmid LH apmiGorenser &rsemea giem(Heugarn epeuld
(<) SrLpratgdled epL i gFHUBSEISL fpeaLd
(@) Si@TCgd elHULLaeT Fman 2 Lanqwrs SfisgelHeugean qpaLd
() FSH wpmyd LH @_mrffr(&nmfmasdr FT55M SHLILSET pPALD
A contraceptive pill prevents ovulation by :
(a) stimulating release of FSH and LH
(b) blocking fallopian tube |
(;) i cauéing irﬁmediate degenefation of released ovum

(d) inhibiting release of FSH and LH

A [ Spliys / Turn over
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Qeuiuflewle apu@n wrppsenad sriid aimaph el GHET

EDPE&ILIHID.
(<) CrameL s b () eraGLrQp s
(@) dowCGeannQsibads (m) Wes@aniu Gaupur® o ufflsar

Organisms which can survive a wide range of temperature are called
(a)  Endotherms (b) Ectotherms

(¢) Stenotherms (d) Eurytherms

B - dluGures famer gram@eus :

(=) QerLire.Quymen () 2udi erdlT@Lim(peT
(8) edrQurmer ey (FF) erdlrQum(mer

B - lymphocytes are activated by :

(a) Interferon (b) Antibiotics

{c) Antigen (d) Antibody

eusTerseNd aigamd 2 HusSEE Lweau@n Curgeurear gerlQuimmer :
(1) &mmbUTenSE &Lpleser (<) Cemumorey
(&) Cemer 2 enray (/) FlossLeme
The most common substrate used in distilleries for the production of ethanol is :
(a) Molasses (b) Soyameal

(c) Corn meal (d) Groundgram
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Qeweu®ibd elgsder erg sfurer aflens ?
(1) FSH = LH - @aadGer — elpgi0ad o maindsin
(<) LH - Qe @ Qsdsdr » QLavCLiravieGrrer — aflbgided 2 (haurssib
(@) TSH = FSH - QaiGLre) Qsasdr — aflhgQed o (peurssn
(m) LTH - QarGLred Qadsar — e Grmsen — 6ilbgiGlaa D (HEUMGELD
Which is the correct order of action ?
(a) FSH — LH — Inhibin — Spermatogenesis
(b) LH — Leydig cells — Testosterone — Spermatogenesis

(c) TSH - FSH — Sertoli cells - Spermatogenesis

(d)j LTH — Sertoli cells - Androgen — Spermatogenesis

R Qendsml Lid anrig elen@uis swbleauid riiCurg @) mésrs ?
(=) auvensGurged Gevers Hlaneudad

(<) eviflemser Corey Qalig swelluder FHuBDLCUTE

(8) Qarsaml L gdar serey Quilgrs QmHsTe

(rF) Slefm wIHMHD @everrs Hlanaude |

A population will not exist in Hardy Weinberg equilibrium, if :

(a) There is no migration

(b) Individuals mate selectively

(c) The population is large

(d) There are no mutations

[ Hpiys / Turn over
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12.

13.

14.

wailsafldr ABO @Qrés cumssmer sLOLURSSS! |

(&) urdsnips wruEmiEsET (<)) LhEal () A0S
(@) Y-snins wrugssdr () Qamaad LFUEISSET
ABO blood group in man is controlled by :

(a) Sex-linked genes (b) Multiple alleles

(c) Y-linked genes (d) Lethal genes
afGuorGerien eramug) :

(1) QerravGlomgqwid Qansdlelmpg QeuelCumb més
(<) ebGumgCermiefien wpenGanmiy

() abCGuramuad Gasdadnmhs QeuaGumnn pés
() avl QriGLrarssalambs CeualCumb bés
Haemozoin is :

(a) A toxin from plasmodium species

(b) A precursor of haemoglobin

(c) A toxin from haemophilus species

(d) A toxin from streptococcus

SlpeumelaneunmieT eThg (W SEeuepLoLiL], 2 awta pmid B LHmTEGmDeL FelliTEs
2 goydlngl ?

(=) Endu s @aiGumesnd (<) Galli e nésLb

(@) auewasCurge () CsrerL 2 mésD

Which one of the following is a suitable adaptation to overcome food and water
scarcity ?
(a) A short reproductive period (b) Winter sleep

(c) Migration (d) Summer sleep
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silayber o uffiw s&HHN0IY Qadieugen Cpréstd -

() T GODHEHD

(<) e flw y&fgmen Comeueni Gampsse

(Q) ugargeme s fged0

(%) UMl oy &fgmen Comauemw dsfsse

The purpose of biological treatment of waste water is to

(a) Reduce sedimentation
(b) Reduce BOD

(c) Increase sedimentation

(d) Increase BOD

UGSl - II / PART - II

@Ply : soabuaib s dlarssessE elalwlésab. el aar 24-&@E

sLLmuns efent weflésey L. 6x2=12
Note :  Answer any six of the following. Question number 24 is compulsory.
16. (pgianoblene ereimmed eramanm ?

17.

18.

19,

20.

A

What is senescent phase of life ?

Abgs Hreugdled irmdluarearenau wranes ?

What is the composition of semen ?

POCSO &l L gdlarm (ipsdlugglald wranel ?
State the importance of POCSO Act.

Ui QuAESHE cremmmey ereven ?

What is transcription ?

Qgrenepowran LAlufd sramiulL eMy&smeT LLipwal(s.

List out major gases seems to be found in the Primitive earth.

[ Hiligs / Turn over
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21, @S wrd el g GrrGurGamitaer pib e-Lelld areiourmy Gms Gasas

Qemmmuﬂmg ?

How does the trophozoite of Amocbiasis reach the final destination in our body ?

22. @swreg) - aeTUnssab.

Define Zymology.

23. Qumpdrer wrupmt Cursed cremmre eremen ?

What is Mass extinction ?

24. GQarGrrerr eneurev @@ RNA aveupev. <jgliuenule PCR QamiflemL U
DNA-ews sam®Hiiyé@En Gsmflemub. @lug Quafled, PCR Qg rfleémL LD
QerGrremm emeurdvenay samLflgedle ereuaurm LweTLHEDE ?

Corona Virus is a RNA virus. Basically PCR technique is used for detecting DNA.
If so, how PCR technique is used for diagnosing Corona Virus ?

L@ - III / PART - III

GOILY : eremeuCuend mi elemssEnss e wealssan. eflam eram 33-&@

gL Lmuwng e weflssah. 6x3=18

Note : Answer any six of the following. Question number 33 is compulsory.

25. sm&QaTam® WwHnb Sasberae GCaumubss)s.

Differentiate foeticide and infanticide.

26. erAlgCrmAarmavGLréley JeSLmelley Crrenw ereucumy gedissamd ?

How will you prevent erythroblastosis foetalis ?
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wGeilur Gpmis, s OIS eetangr ? e-ag oL &G HITERTLD H(HS.

Is vaccine available against malaria ? Give reason for your answer.

@mg@mﬂ@@mmaﬂm (pQ&Fflar LLID euanfhgl LITGhIGmaTs GHI&5a4LD.

Draw the diagram of immunoglobulin molecule and label the parts.

Bewenuiilu erflQurmer sawer updl Any GO T(HES.

Write short note on microbial fuel cell.

Caumu@ags : Baseuliu Cauyur® 2 uilfse (wNGsMbdseT) wHHIL Gampelaitiu

Coumur’ @ 2 uiflser (eveCam@sibadr).

Differentiate Eurytherms and Stenotherms.

e wearmLe Loamas saawular eparm 1flejsamar elleéss.

Explain the three indices of species diversity.

B Wena 2 amaplLgms erelaunyl &LHUUGSSOTD ?

How can we control eutrophication ?

uddper wpnb GHFpe BAW GramghGd G Guwdrer Caugur@amer
T(PEIS.

Write the differences between multipotency and oligopotency.

[ Spliys / Turn over
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LGS - IV / PART - IV
&My : SIS edlaTé; & (@ @D eflen_waflGameb. Sx5=25

Note :  Answer all the questions.

34. (=) waflg smueruwlien el GBS UMTLIL SgIL 6 Aleufl&aeyLd.
S|6V60G|
() Bog @bHw Brh @ppewwrar @eariCuméss o Crréflwugams LU
Cup@asrarer Geuaigw 2 SHEeT Wireneu ?
(a) Describe the structure of the human uterus with a neat labelled diagram.

OR

(b) What are the strategies to be implemented in India to attain total reproductive
health ?

35. (1) yrs 2 pusdlulier, Qwmyf QUWTESE Fnmisafen uréjeﬂemézﬂ eSlemd &5
3|66
(<=t) wrugms GHlSGsaiar Apliyl uamLser wreme ?
(a) Explain the role of translation components in protein synthesis.

OR
(b) List out the salient features of Genetic Code.

36. (=) anriig - efen@uiéd Fwerur® (p?+2pq+q2=1) Qeardsml L6 gl enev
Qmuues ereueumy efleté@dng ? wrdwd soflaawmuls LTd&Esh smyalsdr
gGaaib Brendleaan UL gl (s.
{60605
(=) gGaaid ghg urseflur Crmismar' LHH 6rgs.
(a) How does Hardy-Weinberg’s expression (p2+2pq+q2= 1) explain that genetic

equilibrium is maintained in a population ? List any four factors that can
disturb the genetic equilibrium.

OR

(b) Explain any five bacterial disease.
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37. (@) Quéy CpmiuggemL sriy aary pb oL@ Crmis & af o (55

urgsTEHag craTLamd eNeTHEGS.
9|60608)
(<) PCR Qgmfldmiusdlen Qeudipepamw elarsGs.
(a) Explain how innate immunity protects our body against diseases.

OR

(b) Explain the process of PCR technique.

38. (=) Bfen upédlu LT EMETL WALV (CF:3

ATV
(=) mssias sifla) wWHmID Wetaranis siflesaner B ereueumm GoaTaTaNLD
Qewiwemd ?
(a) List out the essential properties of water.
OR

(b) How can we manage medical wastes and E-Waste ?

-00o0-
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